Topic 19 

Comparing Several Medians

	Activity 19-1:  Australian Student Population


a) Open the SPSS data file AUS_STUDENT.SAV XE "AUS_STUDENT.MTW" .  It contains data on the number of students in higher education in Australia during the 1980’s.  They are grouped according to age and gender.  Use the techniques discussed in Topic 18 to determine if the assumptions regarding the error terms in the One Way ANOVA model are met for the number of male students.  What do you conclude?
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For at least one group normality is questionable.
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Levene’s test indicates that there is strong evidence that the individual standard deviations are not the same.
	Activity 19-2:  Computing the Kruskal-Wallis Test Statistic


a) Have SPSS assign ranks to the number of male students.  Remember that SPSS will stores these in a new variable called RSTUDENT.  Use SPSS to determine the total sample size.

b) Split the file according to age group.  Have SPSS compute the mean rank and sample size of each age group  

c) Fill in the missing entries in the following table

	Age Group
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	< 20
	8


	17.19
	.69
	3.81

	20-24
	8


	28.06
	11.56
	1069.07

	25-29
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	4.5
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	Total


	2225.38


d) Multiply the total by 
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	Activity 19-3:  Computing the p-value for the Kruskal-Wallis Test


a) What are the individual group sample sizes for the male student data?  
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b) How many degrees of freedom are there?

d.f. = 3
c) Use the formula given above and Table III to compute the p-value for your test.  Record the value below.
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d) What do you conclude?

There is very strong evidence that the medians are not equal.
.

	Activity 19-4:  Using SPSS to Perform the Kruskal-Wallis Test


Have SPSS test the equality of the median number of male students in the data file AUS_STUDENT.SAV XE "AUS_STUDENT.MTW" .  You should see something like the following.

Kruskal-Wallis Test
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	Activity 19-5:  Female Students in Higher Education


Have SPSS test the equality of the median number of female students in the data file AUS_STUDENT.SAV XE "AUS_STUDENT.MTW" .   You do this by selecting those cases that are female and then run the Kruskal-Wallis test.  Record the value of the Kruskal-Wallis test statistic and the p-value.  What do you conclude?

Kruskal-Wallis Test
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There is very strong evidence that the median number of female students differs according to age group.
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